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.1 SIS SR 19 7 PROR IR PV ?
Which gases do not destroy ozone layer ?
1. FEARIFR] Te [Chlorofluorocarbons] 2. BIEACIFARISS [Carbon tetrachloride]

3. 3ffa=iI [Oxygen] 4.9 19 2 [Option 1 &2]
9.2 IR SRIdCIeT SeaHEY BIUTd] CIRCISRGIS N
Which gasis used inthe bulb shown in the figure ?
1. 3R [Argon] 2. 2ferem™ [Helium]
- 3. e [Krypton] 4. @H:I'H[Xenon]

.3 Wloflofichl Pl HIEATHED SWod [T FTT 3T ?

Which one of the following joint have Ball & Socket joint between them?
1. 1T 9 & [Shoulder & Hip joints] 2.3%@3@5‘[ [Elbow & Knee]

3. 97TC 9 UIITET geT [Wrist & Ankel joints] 4. PR g G7E [Elbow & Wrist]
U.4  Wleiicdd! SIurd e g g ool a1 Sgidsiar T 38 ?

Which of the following statement is true for both Animals and Plants?
1. T 31l TG IR PR, [They make their own food.]

2. T 3T AR PRUITARICT GUTBIAT STl 3. [They need sunlight for food production.]
3.d UepT STRIG AT STHIER glefdTel dhRdId. [They can move from one place to another.]
4. T SATUITATS] qTuTe} 3aegehdT 3. [They need water to exist.]
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T T 3T TN TR PRUGTHRICT T IeTeh! T SFTaeeehell T ?

Which of the following is not necessary for plants to make their own food?

1. 8Rag [Chlorophyll] 2. TGS [Oxygen]
3. PIETSRIRNGITES [Carbon dioxide] 4. ITBI [Sunlight]
GrefteTtdhT 3R SISl Piure 2

Which of the following pair is incorrect ?

1. YT G- gfethdT [Flowering plants - Wolffia]

2. 38 =Rl — 3fdell [Non flowering plants - Mushrooms]
3. IRUTST — 3R [Heterotrophic - Dodder]

4. Hicpyet — geyguff [Insectivorous - Pitcher]

WrefiehT pIurdT HToft 3Tt 31Te ?

Which of the following is a oviparous animal ?

1. PIESt [Hen] 2. SRR [Dinosaur] 3.9R [Crocodile]  4.aR)ad [All of these]
—————— 2 guIATe SR AT

------------- are ill effects of a forest fire.

1. 8@ U5 &I, [Pollution of air.]

2. < fifep AR s RSEL Sﬁf.[Great damage to nature wealth and biodiversity ]
3. YD, Yo, IR, ATGHN IGLawT gl

[Destruction of infrastructure i.e. building, roads, railway tracks.]
4.977g 19 2 [Option 1&2]

fEreueref faReeuRY Sita=acd eI ?

Which are the fat soluble vitamins ?
a. 5flg9ed B9 C [Vitamine B & C]

b. g DI E [Vitamine D & E]
c.SflgTaed ATK [Vitamine A& K]

1.9 ad b [Option a & b] 2. 991 b ¢ [Option b &c]
3.9 ad ¢ [Option a &c] 4. 997 a,b,c [Option a,b,c]
WleAleTtehT PIUTT T8T0T IRyl 7ed JTT@edd ATal ?

Which of the following characteristics does not occurin a plant?
1. 95T [Reproduction] 2. TTETdT [Responsiveness]

3.5 [Excretion] 4. JIUHTATEL  [None of these]
R RS IhEa Bl THT SREHTE! dIaeh? a7 81 ATeId aR M SR DIV Fcep ool
3G 3TTR ?

Tooth gums of Suraj are bleeding as well as their wounds are not healing quickly for that what should
he include in his diet?

1,75, g, =Iuft [Carrot, Milk, Butter]

2. feReuT UTi YT, PeUT, Uds [Leafy Vegetables, Pulses,Papayal
3. 34T, Tel, T3l [Amla, Tomato, Orange]

4. qRY, Tiges, SN [Jowar, Rice, Bajral

Tt GehrdT SATS! PIure ?

Which of the following pair is incorrect ?

1.ae) — 22818 [Skull - 22 bones] 2. BT fUSRT - 25 818 [Ribs case - 25 bones]
3. U HuTT— 33 TS [The spine-33bones] 4. T8RT — 8 TS [Face - 8 bones]
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DR RIKICRIN R RIS UEEEEE T 3.

Motion of a Planet around the sunis an example of ------------ Motion.
1. FrRIdPTferas T [Periodic motion] 2. 9gwIepR Tl [Circular motion]
3. TG fkeeb el [Random motion ] 4,991 19 2 [Option 1 & 2]

T Araet fGURITS SO e RS 3RIeT ?

To from shadow of chair, what would we need?
a. U1 S [Asource of light] b.@‘f[Achair] . AIR™T [Mirror]

1.997 ad ¢ [Option a &c] 2.99R”1bd ¢ [Optionb & ]
3.9 ad b [Optiona & b] 4. 9919 a,b,c [Option a,b,c]

O Bt ST (farfsg fem amge) —— - - ——— - - formfor 8.

Pinhole camera produces----------

1. gt @ #idt ufcmT [An erect and enlarged image]

2. 31!  HIdt UfMT [An inverted and enlarged image]
3.3elc! g oI UfeHT [Inverted and smallimage]
4.34c1ct 9 ST Ui T [Erect and smallimage]
Teilefieh] IV SETERU TG erd T 3ATE 2

Which of the following motion is an example of oscillatory motion?
1. ARG TAT ATt T [Motion of a cycle wheel] 2. ia=arei! Tt [Motion of a spinning top]

3. TG Y UTGUIRT 984T [The vibrating diaphragm] 4. a%1et 94 [All of these]
GTeAIeTieh! PO FeTaed YT ATa! ?

Which of the following elements is an example of non metal ?

1. 9RT [Mercury] 2. A3 [Sodium]

3.3Te [Carbon] 4. g3 [Aluminium]
GTefeTdeh! IuTT TChII EaTd TR I Bleel ?

Through which of the following substance sound propagates faster?

1. ?ﬁ@?ﬂiﬁm [A rod of iron] 2. 9roft [Water] 3. &dT [Air] 4. R T4 [All of these]
gRa ST BATGR DIV Ted Ao gid Tg! ?

Which of the following components is not produced from green energy resources ?
1. e HHIGATSS [carbon monoxide]

2. I SINFATSS [Carbon dioxide]

3. GO‘IET?,U;\’ [Carbon, Smoke]

4. 901 94 [All of these]

TRY UhSUATT 715 8T IRl DIV HehRR 3TTR ?

Fishing rod is a type of -------- lever.

1. 9fEeT [First] 2.5¥R1[Second] 3. foRART [Third] 4. ITIEY FTET [None of these]
AT JSRTHED DI STt AT el 3RIT 2

Which type of energy is contained in a stretched rubberban?

1. RufersT 391 [Potential energy] 2. fa]d ST [Electrical energy]

3. 77fCT 91T [Kinetic energy] 4. TRUfcrep el 31 [Static electric energy]
RATeATAIhT PIOTT SIRUTRE I ST T8l ?

Which of the following is a not non conventional energy source?

1.9R 31T [Solor energy] 2.9a 311 [Wind energy]

3, afilep arY [Natural Gas] 4. 33T [Atomic energy]
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TS ArEaUIRATS] —————— - T IR PHT HRal.

Reduce use of ---------- tosave tree.
1. PIIg [Paper] 2. 910l [Water]

3. 319 [Food] 4. 94T 99 [All of these]
Wleflelt<h! I FERAT TR ToT HISTTT ?

Whichinstrumentis used to measure a weight of sugar
1. AT [Beam balance] 2. fm amorrer [Spring balance]

3. Sotargii~eh TR19] [Electronic balance] 4. ITIEY ATET [Non of these]
B OIS —————— q-————- EIRICEUCRIRC N

& is a necessary to do awork.
1.9 9 31 [Force & energy] 2.9 9 fqwumaq [Force & displacement]

3. foRermas g 3911 [Displacement & energy] 4. SSUTAT I Y12l 3911 [Heat & light energy]

1. T3 [Jupiter] 2.3sh [Venus]
3.924 [Earth] 4. 91 [Saturn]
——————— Bl TLRAT 3TTRTS TASTH BRI Bl

----------- organisation works in space technology.

1.3 [ISRO] 2.3 IR I 3 [DRDO] 3. A TA[NCL]  4.Td. T. Te. [HAL]
PRI ———————— o,
Coronais @ ----------------- .
1. fawToy [Virus] 2.3YUE [Satellite]
3. ?bﬂtﬁ TSI [Mobile technology] 4. FTST AT [Name of tree]
STRTCH e RN fT ——————- T TSR SRAT.
World Health Day is celebrated on ------------ .
1. 7Tf%re [7" April] 2. 1SR [1* December]
3,55 [5" June] 4.109Td [10" March]
STTeAIST IRIET MY ———————— = erae.
has discovered oxygen gas.
1. foRet [Pristley] 2. 3799 [Dobson]
3.]feoi [Rontgen] 4. pgler [Cavendish]
T $hH SNeRgT eiel AReT U e Qe

Observe the sequence in the given numbers and find the number from given option to replace the
question mark.

38,49,62,70,7?

1.75 2.83 3.72 4.77
8.02,12.04,16.06,20.08,?

1.24.01 2.22.10 3.24.1 4.26.10
AT Mciicier FApIOTT ARe farett ?

How many triangles are there in the figure alongside ?

/\ 1.5 2.6

3.7 4.8




.34 201091 W AAR SRt TR 2005 T IS BHIUIT IRY gIelT ?

Independence day of year 2010 was on Sunday what was the day on independence day of year 2005 ?
1.99HdR [Monday] 2.3fIaR [Sunday]
3. §YdR [Wednesday] 4. afaR [Saturday]

T.35  WeARgraT STRf ARy e forar.

Find the numberthat canbe placed into the last circle

RO OO

. . 4.7

7. 36 EISll WWH@TW?

How many squares are there in the figure alongside?
1.3 2.4
3.5 4.6

AT TP A IT {SHIOMIRIT FeTeted 5[ d dls
N 7 femroft drgrawRia fasdt de gfémorens gl ?
A

In this figure Raju travels from Ato N how many times he faces
:l North 7
N

1.7 2.5

3.4 4. 3
ForQ.38 & 39
HHART [Workers]

9.37

‘e 85 DTl hR [Artists]
\ 2 «—

2 \6 |3
A ol \e |

Q 12

o [ fa=mef [Students]
Uleldh [Parents]
.38 fanclt A Tetes faemeff ger emea 2

How many worker parents are students also?

. 2.4 3.6 4.10
7.39  forcl ot theh TRy 3TTRd ?
How many peoples are only workers?
1.33 2.60 3.42 4.9
. 40 36187100 TeARIETeAT STt J0TRY T 2nedT.
16164 2 Find the missing number.
1011715
1.49 2.25 3.64 4.9
9. 41

A g forefi= areaT it sRIST 50 a9 371e AR 10 uTgdT el 37 14 a9 gidl. o) Al 3fore 97 fohelt
3RIA ?

Addition of the ages of Sachin and Nitin is 50 years. Before 10 years Nitin’s age was 14 years . What
will be the age of Sachin today ?

1.36 2.30 3.26

4.24
T.42  geAfagrean St i e forl.
Find the missing number in the following series.
2,9,7,65,126
1.82 2.26 3.50 4.28

(5)
\5}
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refiet agclicicr et eeTgclt Slered 3rmee 2
How many cubes are there in the following figure?

1.6 2.9

3.10 4.8

Rrgref 7w AR Yy f3PToft FHoeam @1 TR FHH i g Tdd Yo iR A @S el R
Rt et forcft arie 7

Siddharth cutawire 5 times and made pieces of equal length. If each piece is of 50 decimeter. find the
total length of the wire ?

1.300m. 2.250m. 3.30m. 4.25m.
TehT Hichfcih YT NAKED T 916< 74126 3TOT MISTAKE &T 976 3895412 31T foifgdTd. O) DISTANT &
9Tec pT 18T ?

In a certain code language NAKED is written as 74126 and MISTAKE is written as 3895412 . How will
be DISTANT written in this language ?

1.3865485 2.6895475 3.6798545 4.6985475
236:248::313: 7
1.335 2.326 3.320 4.346

SURY 4:30 e BT e dAepTeT @ fAfieerer 2T febet 79T P 3RAT ?

Whatis the angle between the hour hand and minute hand of a clock at4:30 pm. ?
1.60° 2.35° 3.120° 4. 45°

S, AIeR, STTCIRe, IRIchel AT HHAT 43 I RITAT el UTdh dhatot! 3Tad. TTdlel 26 T TR

PpIUTd dig- 3fHT ?
In a roadside Jeep, Motor, Autorikshaw, Bicycle like 43 vehicles are parked serially. Which vehicle is

parked at 26" number ?
1.9IeR [Motor] 2. 3TTeIReE [Autorikshaw] 3.5119 [Jeep] 4. 9% [Bicycle]

TSI 7 FHUIR Ug, AT,

Find an odd man out.

6 15 34 69 141 285

1.69 2.141 3.34

SR TSI B8] Fgeet, HISATell Pl Fgeal, PTell SaR Facel d IaxTell el Fgeal a'\’ﬁﬁira?ﬁﬁfﬂ?ﬁ ?
If gadi is called as horse, horse is called as dog, dog is called as mouse and mouse is called as gadi.

Which is non-living thing?

1.7l [Gadi] 2.3ER [Mouse] 3. 91ST [Horse] 4. 931 [Dog]

als a¥s als als als als afs
4> 7S oS 7S o4 7S o

(39T HeAufAdhd 50 U9 ™A™ (OMR Answersheet) SR Uf3chd U9F HHIB 1 o 50 Rda IR Aleardid. )

(I1 gequfadrelt IR Jat (Answer Key) 8/Y fad www.drevramanexam.com IT IGSCaR A Blsal)
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